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» Please check that this question paper contains 15 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

» Please check that this question paper contains 27 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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5o 97 7 a5 f@aey 78 R war 8 1 fv ot v o aret @ ge & @ are are

g1 3wl 8, o7 7l it IRyl § qor 9 et aret ) et § ey Bar mar

g 1 03 gt goat § @ arTwt vw & ey T I A S

I 3FvIHAT &, ﬁmmmﬁmmm?;é@ﬁw#m#

T T E 1

General Instructions :

(1) All questions are compulsory. :

(ii)  Section A : Questions number 1 to 5 are very short answer questions and carry
1 mark each.

(i)  Section B : Questions number 6 to 12 are short answer questions and carry
2 marks each.

(iv)  Section C : Questions number 18 to 24 are also short answer ‘questions and
carry 3 marks each. _

(v)  Section D : Questions number 25 to 27 are long answer questions and carry
5 marks each. ‘ '

(vi) There is no overall choice. However, an internol choice has been provided in
two questions of one mark, two questions of two marks, four questions of three
marks and all the three questions of five marks weightage. You have to attempt
only one of the choices in such questions.

(vii) Use of log tables, if necessary Use of calculators is not allowed

s H
SECTION A

1. FEREH o ARdeRifaa F6REs § § s aieed g sfife
% ufa a1fers sifirfpamsfier @ ot =11 ¢ 1
Out of Chlorobenzene and Cyclohexyl chloride, which one is more
reactive towards nucleophilic substitution reaction and why ?

LRI —— E’P
.56/2/3 . 2
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2. f=fafea w37 5@ 7 e % e g0 s i syafen $ifg
(CoHj5)oNH, CoHgNH,, CgHzNH,
Arrange the following in decreasing order of solubility in water :
(CoHz)oNH, CoHgNH,, CgHsNH,

3. f9 yoR w1 Fieles 55 & 9= el 3+ g § oifm fen T 2 0

IgTeeT Y | 1
What type of colloid is formed when a solid is dispersed in a gas ? Give an
example. N
4. KCIaﬂtAgmﬂﬁaﬂqwga%aqm%aﬁtmﬁ? 1
HYGT
TH FHH R ZnO et =1 wedig Bar 2 2 : 1

Out of KCl and AgCl, which one shows Schottky defect and why ?
OR

Why does ZnO appear yellow on heating ?

5. el ik AR & e siw 2 2 o
T
AT % IA-ANTHH § UTH Ig frfau | ' 1

What is the difference between amylose and amylopectin ?
OR

Write the products obtained after hydrolysis of lactose.
Wig o

SECTION B
6. ﬁmﬁﬁﬁmmlﬁqwa@@ﬁaﬁﬁmﬁﬁ&#

BV IERIE | 2

T

(a)  typ
R, —

T.
(b)  typ

[R],— . |
&l [R], Sifirehier it TRiEhe Trgar 2 ot ¢y, o amy 2 |

| 56/2/3. | 3 P.T.0.
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Define order of reaction. Predict the order of reaction in the given graphs :

T

(@) by

R, —

(b)  typ

[Rl,—

where [R], is the initial concentration of reactant and ty/, is half-life.

HIV AT ; |

(a) FANGH R WS & frgor @ quuE W8 9@ | |

(b) mﬁﬁ%mwwﬁmﬁé@wﬁmmm
r

Give reasons :

(a)  An increase in temperature is observed on mixing chloroform and
acetone.

(b)  Aquatic animals are more comfortable in cold water than in warm
water.

® FeCry0, H a1 H A ¥ NayCOg F WY Tiifera foan Smar 2 at
Afirer (A) =1 dren feem gmw @ ? | difies (A) srfien fhg S @ A
(B) ¥ & | dtfies (B) KC1 % &y iflifipar &k wh Tioftian #1 @ (C)
ST B m*rﬁm(ma;rawﬁaﬁwmzsoaﬁ(mﬁmmﬁﬁaﬂém% |
(A), (B), (C) 3R (D) i yga™ HIf |

When FeCroQ, is fused with NagCQOj in the presence of air it gives a
yellow solution of compound (A). Compound (A) on acidification gives
compound (B). Compound (B) on reaction with KCI forms an orange
coloured compound (C). An acidified solution of compound (C) oxidises
NagS0j3 to (D). Identify (A), (B), (C) and (D).

| 5612/3 ] 4
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9. Erfifa WA  fau dqfer TR FHiw R - 2
(a) FH I W Cly FAIEa H I 2 |
(b) Fe(lll}w%aﬁﬁaﬁamﬂsozﬂaqaﬁaeﬁw% :

HIAT
(a) FerH fta @ o ¢ @ fadeh At % Tm fafa |
(b) o @ e 0 W Cu?t e e w2 2 2

Write balanced chemical equations for the following processes :
(a) Cly is passed through slaked lime.

(b)  SOq gas is passed through an aqueous solution of Fe(III) salt.
OR

(a) Write two poisonous gases prepared from chlorine gas.
()  Why does Cu®* solution give blue colour on reaction with ammonia ?

10. ¥ &1 0% 3fua IgiEer < ge Frefafed uef B wRnfva Hifse 2
(a) wgaq forre
b R g
HAYAT
TUPAC 9HEUST &1 3941 &id g¢ Fforfiaa wpent & & faflge @ - 2

(@) OrRRmEm E(ree)mReD
(b)  BEFECEATHITI (1) e

Define the following terms with a suitable example of each :
“ (a)  Polydentate ligand
" (b) Homoleptic complex
OR

Using IUPAC norms, write the formulae for the following complexes :
(a)  Potassium tri(oxalato)chromate(III)
(b)  Hexaaquamanganese(II) sulphate

1. (a) J&EU [NiCl% ot [Ni(CO)y @i # spd T B 2 fe o

[NiCl,|2~ sHg/ha & 3 [Ni(CO),) wirgmshia 2 | sru & |
(Ni &1 9T HHTH = 28)

(b) M%W%mwﬁwﬁ%ﬁw%@mﬁs
() A, <P3W

(i) A,>P 2

| 56/2/3 5 P.T.0.
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[O}>0]
D)y
(a)  Although both [NiCly)?~ and [Ni(CO)4] have sp® hybridisation yet
[NiCl4]%~ is paramagnetic and [Ni(CO)4] is diamagnetic. Give
reason. (Atomic no. of Ni = 28) .
(b)  Write the electronic configuration of d® on the basis of crystal field
theory when
(i) A,<Pand http://www.cbseboardonline.com
() A,>P
12, Fratafes s sifufirn 4 qeg Aifiet A 3it B 6t vt faflag .
, i CH,OH / S HCKg)
(a) = CH3CH,0H PCC A O YT
(b) CgH5COCHg —Ii?:—%—) A+B
Write structures of main compounds A and B in each of the following
reactions :
CH,OH/ dry HCKg)
(a)  CH3CHyOH —2CC , A 3 YT .
()  CgHsCOCHy —21 L asB
' Qo H
SECTION C
13. Itk A + 2B —— C o fore frfafaa sviss ww ge
C % fo=m 1 JRiAE a3
T [A/M [BI/M 1
/M min
1 0-2 0-3 4-2 x 1072
2 01 01 6:0 x 1072
3 0-4 0-3 1-68 x 1071
4 0-1 0-4 2-40 x 1072
(a) A3 B % gfa stfufseen it #ife s hifsrg |
(b) an frm SR arffsmn Y Fa =il fafa |
(¢) a7 foe (k) aitsfera HIY |

(ser23) 6
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The following data were obtained for the reaction :

A+2B — C
Experiment [A]/M (BI/M Initial rat;:g?;ﬂatmn of C
1 0-2 0-3 ' 42 x 1072
2 01 01 6:0 x 1073
3 04 0-3 168 x 1071
: 01 0-4 940 x 1072

(a)

(b)

(c)
14. (a)
(b)
(c)
(a)
(b)
| 56/2/3

Find the order of reaction with respect to A and B.
Write the rate law and overall order of reaction.

Calcyllate the rate constant (k).

http://www.cbseboardonline.com

a1 qitfarg greeen 3 qf@yor qesm fafae |
A9HM & gg4 & Wifdes sTaeiyor gear =11 2 ?

fe & & ¢ faftr oo v wiwisdt wiar SR T | wwEEe! § 91 Agl
FHIASE! FHU % FU FI1 WAV 8 ? 98 " hY Fefug B wmr g ? 3
AgNO, faem

Write the dispersed phase and dispersion medium of butter.

Why does physisorption decrease with increase in temperature ?

7 P.T.O.
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(c) A colloidal sol is prepared by the method given in the figure. What
is the charge on Agl colloidal particles formed in the test tube ?
How is thlS sol represented ?

AgNOg solution

KI solution

15. 19g 9fd 100 mL KCl (M = 74-5 g mol™) &1 fae@q 3 g 9l 100 mL Ffan
(M = 60 g mol™Y) % = TawrEt 3 | KCI frerm it e &t won wiefera
Hifre | v i 6 1 Rerm @ aw w g |
A solution containing 19 g per 100 mL of KCl (M = 745 g mol™) is
isotonic with a solution containing 3 g per 100 mL of wurea
(M = 60 g mol™1). Calculate the degree of dissociation of KCI solution.
Assume that both the solutions have same temperature.

16. TV 599 81 u % Rt a7 X &1 W 102 g em™> B | AR Theh hifssh
# AT 27 x 1028 cm® 2, @ vty wwe HifdH F THR H wwEH
hifsre | (femm T 2 1 Ny = 6:022 x 10%% mol ™)

An element X with an atorriic mass of 81 u has density 10-2 g em™3. If the

volume of unit cell is 2:7 >< 10723 ¢cm3, identify the type of cubic unit cell.
(Given : Ny = 6022 x 1023 mol™)

17. fmfafaa & fgma fafae : http://www.cbseboardonline.com

(a) AN Y&
(b)  avfciRgsh!
(@ W wad fafy

Write the principle of the following :
(a) Hydraulic washing "

(b)  Chromatography

(¢)  Froth-floatation process

| 56/2/3 | -8
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18. frfafas & forg srwr iR - 3
(a)  HsHHY UTg HUF T % I A g9 §
B I % e S wen # sl T g gu ot Frhe e
FABAE |-
(©  Ce' U woia il & |
Give reasons for the following :
(a)  Transition metals have high enthalpies of gtomization.
(b) . Manganese has lower melting point even though it has a higher
number of unpaired electrons for bonding,
(c)- Ce*"isa strong oxidising agent.
19. Feafafaa sgeaet ®F T F0 5 90 93w hamt & dweand R 3
(a) Tiar
()  fremfm
()  =I1-S
' HYAT
(a) WA o U IgEWT Tafau
@ forelw-afem sgaes
(i)  Seplae SgETR
(b) Tl st 37 siTanfoas sl % wod g N A srafeyd Hif
e, sEI-N, uitreersia
(@  Sa-fefimefa sges! # e sgewm F ae afenfie S | 3
Write the structures of monomers used for getting the following
polymers :
(a) Novolac
(b)  Neoprene
(c) Buna-S
OR
(a)  Write one example each of
(1) Cross-linked polymer
(i)  Natural polymer
(b)  Arrange the following in the increasing order of their
intermolecular forces :
Terylene, Buna-N, Polystyrene
(¢)  Define biodegradable polymers with an example,
| 56/2/3 | 9 | P.T.O.
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EpE
t
20. Tr=fafEs sfifrnet = ool Hifve .
CN
(2) E( HyNi
CH,
Br H,PO
(b) @’ __u_ﬂ
NsCI-
CH, - NH, o
© CV + CHCl, P0E KOH |
HUAT
a1 fr=fafaa swreor Fa w6 .
(a) N-%feueRaEe @ psmfie
(b) =i ST FeilEs & AEeaA
(c) Sz e A el
Complete the following reactions :
CN :
/NG
(a) Hy/Ni |
http://www.cbseboardonline.com
CH,
Br H,PO, + H,0
(b) @/ 3t Y2 oY
NgCI™
© @ + CHOI, Ethanolic KOH N
OR
How do you convert the following :
(a) N-phenylethanamide to p-bromoaniline
(b)  Benzene diazonium chloride to nitrobenzene
(c) Benzoic acid to aniline
| 56/2/3 10
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21, () Pl § 2 3 Rfeaa T S ow g o A S
THAA, Aher, IEUEHS, Tgfe
(b) aﬁ?mﬁ%mﬁﬂﬂaﬁmﬁﬁmﬁﬁam%mﬁ%

27
(c) Qmﬁqmmmﬁwwﬁwavﬁﬁaﬁ%? 3
A>T
nﬁa%%ﬁaﬁamﬁ%ﬁﬁm&%ﬂaﬁqﬁmﬁaﬁﬁu 3
(a) witrifes (TfRamfes)
(b) gfeeft (vfeafes)

(¢)  SRUTEH! 9HTSIH

(a) Pick out the odd one from the following on the basis of their
medicinal properties :

Equanil, Seconal, Bithional, Luminal
(b)  What type of detergents are used in dishwashing liquids ?
(¢)  Why is the use of aspartame limited to cold foods ?

OR
Define the following terms with a suitable example of each :

(a)  Antibiotics
(b)  Antiseptics
(¢)  Anionic detergents

22,  IEH C4HgBr % qft gmraerai & @, yg=nfig
(a) U GHIEEE S yaul O 2 | |
(b) U THIEHE S Sy2 * Wi arcften srfiifdeameier &
(c) @amﬁ&mﬁﬁmwmﬁg@w%
HEEY T ST 31 34 & | 3
Among all the isomers of molecular formula C4HgBr, identify
(a)  the one isomer which is optically active.
(b)  the one isomer which is highly reactive towards SNn2.
(c)  the two isomers which give same product on dehydrohalogenation
with alcoholic KOH.
| 56/2/3 | 11 P.T.0.
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23, (a) 39 fflEw F@ Bry, (Siefig) & @i Do siffsn & 2 |
(b) ?ﬂﬁa%%ﬂﬂiﬁﬂ@mmmwwwﬁamm
?
(¢) 39 faarfm @1 am fofRay Rrgeht @t & womsft whrewar & st 2
HYAT
FrefaRaa ogi =1 sfenfia i .
(a) W9 SR
(b)  WIHd WA
() —gfFasnerss
(a)  Write the product when D-glucose reacts with Br, (ag).
(b)  What type of bonding provides stability to o-helix structure of

protein ?

Name the vitamin whose deficiency causes pernicious anaemia.

OR

Define the following terms :

(a)

(b)

{c)
24, (a)

(b)

(a)

(b)
. 56/2/3

Invert sugar
Native protein

Nucleotide

Waﬁlﬂ\:

(1)  UHIfew ot it I Sz STF YEOIdY A il & |

(i) TS 6t arvan A Aifyeeid e sififenett & wfa srftes
arfufsramsfier g 2

e R WHE % @ fade w0 % fon o we e e

gifsre |

Give reasons :
(i)  Benzoic acid is a stronger acid than acetic acid.

(ii) Methanal is more reactive towards nucleophilic addition
reaction than ethanal. '

Give a simple chemical test to distinguish between propanal and

_propanone.

12
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25. (a)

(b)

(a)
(b)
(c)
(d)

(e)

(a)

(b)

(a)
(b)

{c)
(d)
(e)

[ 56/2/3]
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g T
SECTION D

Fe=forfiaa & Eatu| 'rﬂﬁfq :

) @ 15 9 N & Bi & -3 aHiaefieor srmeen gufy $it wgfy ved
8 | http://www.cbseboardonline.com

(i)  He0 8 HoTe Tk 3refia @&Tor sigar & |

(i) CIFy s e Fy sifs arfifsramfier 2, safs 01, &1 smen
CIF; a1 arfifsramshiar 2 |

(i) XeFy, (ii) HyP;0~ Y Gt difvm | 5

HUAm

TSR i srmm stffear quit ¥ fie wew e S |

T BIEHITE AR AT HICHITE & il Th SoH 3= 1 3 7

1 Bl § 99 XeFg, NaF @ s swai 87

HyO &1 30 H,S Th Sget 9= #01 & ¢ | |
it aeti ot 37 srea Tam % sgd 5T 5w §f cyafedm IR :

HF, HCl, HBr 3k HI N | 5

Account for the following :

(i) Tendency to show -3 oxidation state decreases from N to
Bi in group 15. : '

(ii)  Acidic character increases from Hy0 to HyTe.

(iii) ~ Fy is more reactive than CIF3, whereas CIF; is more reactive
than C]g ' '
Draw the structure of (i) XeFy, (ii) H P50-.

OR

Give one example to show the anomalous reaction of fluorine.
What is the structural difference between white phosphorus and
red phosphorus ? '
What happens when XeFg reacts with NaF ?
Why is HsS a better reducing agent than Hs0 ?
Arrange the following acids in the increasing order of their acidic:
character :
HF, HC1l, HBr and HI

13 P.T.O.
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26. (a)
(b)
(c)
(a)
(b)
(a)
(b)
(c)
(a)
(b)

| 56/2/3
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0-001 mol L~ UHifew oy it Smerehel 495x 105 S em™! ® | TR
Wl amm & T A, &1 7 3905 S em? mol™! &, A 39 fRiH
e 1 gfterem hifdm |
afifgEn -
2 Al (s) + 3 Cu?* (aq) —— 2 Al** (ag) + 3 Cu (s)
% fore 25°C W A~ wftemor frflae |
HuEe et @@ § 2 uw sgrw i |
YT

34 O = frefia Fifve el Fefafaa ik o 2

2 Al (s) + 8 Ni%* (0-1 M) —— 2 AIP* (0-01 M) + 3 Ni (s)
Tl faae (emf) wfem A Al B =141V

Yool AR gl fogd-saes % U 9 dgqd & @1y HieR St
e wepr aRafda &t @ 2 e g fompa-emmem % fow dmia dier
TRl (A0 ) Sl JTH T 8 2

The conductivity of 0-001 mol L ™! acetic acid is 495 x 10° S em™.
Calculate the dissociation constant if Ay, for acetic acid is

2 1 .
39055 em™mol™.  http://www.cbseboardonline.com
Write Nernst equation for the reaction at 25°C :

2 Al (s) + 3 Cu?* (ag) —— 2 Al3* (aq) + 3 Cu (s)

What are secondary batteries ? Give an example. -
OR

Represent the cell in which the following reaction takes place :
2 Al (s) + 3 Ni2* (0-1 M) ——» 2 AI* (0-01 M) + 3 Ni (s)
Calculate its emf if E_,; =141 V.

How does molar conductivity vary with increase in concentration
for strong electrolyte and weak electrolyte ? How can you obtain
limiting molar conductivity (Afn ) for weak electrolyte ?

14
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27. (a)

(b)

(c)

(a)

(b)
(c)
(a)

(b)
(c)

(a)

(b)

(c)

| 56/2/3]
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@)  BHTA B wg HNOg % a1 il of o & |
i) S T ByHg & RN T H,y0,/0H" # ife £ e
2|
(i) AfEam s speirmme 1 CH,Cl % wre SR 6 9wt 2 1
SA-1-317 37 S.2-91fet ¥ i 39 Y fydve T 2
FreRifad Bt aTreiiad % 93 Tw o i syt FIR -
T, AT, el
HYAT _
(1) ”:Féfﬂ:[ (i) I genfs HFA, (1i1) %ﬁﬁqw@ﬁﬂnﬁmﬁ
9 BT FR WTH H Th & 2 _ _
3HATIREHIS % TEATsgiento @ YW 5T Iearg ) v Riflaw |
wical AR § wrag arfiifsran faflaw |
Give equations of the following reactions :
(i) Phenol is treated with cone. HNOg.
(ii) . Propene is treated with ByHg followed by HyOo/OH".
(iii) Sodium t-butoxide is treated with CH3ClL
How will you distinguish between butan-1-ol and butan-2-ol ?
Arrange the following in increasing order of acidity :
Phenol, ethanol, water

OR

How can you obtain Phenol from (ij Cumene, (ii) Benzene
sulphonic acid, (iii) Benzene diazonium chloride ?

Write the structure of the major product obtained from dinitration
of 3-methylphenol.

Write the reaction involved in Kolbe’s reaction.
http://'www.cbseboardonline.com
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